Adding and Subtracting Radicals 3

MULTIPLE CHOICE. Simplify. Assume that variables represent nonnegative numbers.

A5 53125 |, 4A[180

A) 5575 B) /310
2) 3 |27

4, \16

A) 4B B) 543
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3) 9\/7 + 7'\/a

A) N7 B) a7
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A) 53\[E B) _53'\/3
5)af3a , \[108a , 51/27a

A) 57[138a B) 11A/3a
6)A[200 , ~[128 _ /98

A) 17\[E B) _17\/3
7) —5@ + 9'\/% + 9'\/§

A) 4332 B) _poun2
8) 5 4y5 _ 4/49},5

A) 1y B) _3y2Jy

A) 36\[Z B) 13\/5
10) s7/2x , 372

A) gi4x B) 15/ 4x
11) g 38 - oo

A) g 3x B) 1.x
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11 6
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Q) p\2x
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D) 12872
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Adding and Subtracting Radicals 3

14) A[15 _ 15415
A) W15

Perform the indicated operation.

15) 410 _11A/10
A) 15710

16) 36 _ g6
A) 1176

17) 2535 _ 55
A) 100
18) 3 3
1533 473
A) 3
200

19)A/8 , A[18
A) 12

20) A[75y _ A[T2y
A) 313y

21) 962 , A[5412
A) 7 6t

22) \[12575 , 20,5

23) \[125x7 _ ,n[45x7

24) A/3a _7'\/1231 -5 27a
A) _28'\!36

25)AJ75 _ [27
A) 3

26) A[18 , 38
A) 1g\2

27) N2, g18
A) o2

28) \[50 _ /32
A) o2

B) p\/15

B) /10
B) _sn/12

B) o5

B) 32

B) 3,3

B) 15 (\/6
B) 2z3:[52
B) _gx4/5x
B) pg\/42a
B) /3

B) g/4

B) 102

B) _a\/2

Q) 15

C) 14710

Q) 12

C) 20

Q) 512

C) 3y

Q) ,t2./6

Q) 22[52

C) gx3+/5x

C) _12'\' 3a

@) 21\/E

O) 26«/E

@) 3,8\/E

D) _g\[15

D) ~[10

D) _s\/6

D) 307/5

D) ¢\2

D) A3y

D) 7 \f6

D) _12’\! 42a

D) g\3

D) g2

D) _re\2

D) 22\/5
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Answer Key
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12)
13) B
14) D
15) A
16) D
17)B
18) B
19) C
20) A
21) D
22) C
23) C
24) A
25) A
26) D
27) C
28) D



